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LEA LAS SIGUIENTES INSTRUCCIONES 
 
A continuación va a realizar una prueba que contiene tres ejercicios de comprensión de lectura. 
Los ejercicios tienen la siguiente estructura: se presentan unos textos y se especifican unas tareas que deberá realizar en 
relación a dichos textos. Las tareas o preguntas serán del siguiente tipo: 

 
 Pregunta de relacionar. Se presentan una serie de anuncios (identificados con las letras de la A a la H) y se 

presentan cinco frases (de la 1 a la 5). Deberá relacionar cada una de las frases con un anuncio. Se proporcionan más 
anuncios de los necesarios y sólo hay un anuncio correcto para cada frase. Deberá elegir la respuesta correcta 
rodeando con un círculo la letra de su opción en la HOJA DE RESPUESTAS.  

Ejemplo: 
1  A B C D E F G H 

Si se confunde, tache la respuesta equivocada y rodee la opción que crea verdadera. 
 

1  A B C D E F G H 
 
 Preguntas o frases incompletas, seguidas de una serie de respuestas posibles o de frases que las completan. 

Deberá elegir la respuesta correcta rodeando con un círculo la letra de su opción en la HOJA DE RESPUESTAS. 
Sólo una de las opciones es correcta.  

Ejemplo: 

1  A B C 
Si se confunde, tache la respuesta equivocada y rodee la opción que crea verdadera. 

1  A B C 
 
En total, deberá contestar 20 preguntas para completar esta prueba. Antes de responder a las preguntas, lea atentamente 
las instrucciones de cada ejercicio. 
Dispone de 45 minutos para responder todas las preguntas de los ejercicios que componen la prueba.  
Utilice únicamente bolígrafo azul o negro y asegúrese de que su teléfono móvil y dispositivos electrónicos estén 
desconectados durante toda la prueba. 
Trabaje concentradamente, no hable ni se levante de la silla. Si tiene alguna duda, levante la mano y espere en 
silencio a que el/la profesor/a se acerque a su mesa.  
Espere a que le indiquen que PUEDE EMPEZAR. 
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HOJA DE RESPUESTAS 
 
EJERCICIO 1: NOTICES 
 

1  A B C D E F G H 

2  A B C D E F G H 

3  A B C D E F G H 

4  A B C D E F G H 

5  A B C D E F G H 

 
EJERCICIO 2: A MAN FROM GLASGOW 
 

1  A B C 

2  A B C 

3  A B C 

4  A B C 

5  A B C 

6  A B C 

7  A B C 

8  A B C 

9  A B C 

10  A B C 

 
EJERCICIO 3: IT’S IN THE NEWS 
 

1  A B C 

2  A B C 

3  A B C 

4  A B C 

5  A B C 
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EJERCICIO 1 
NOTICES 

Adapted from different Internet sources 

Which notice (A-H) says this (1-5)? There are THREE EXTRA NOTICES you DO NOT need to 
use. DON’T FORGET TO TRANSFER ALL YOUR ANSWERS TO THE ANSWER SHEET. 

 

A 

 B 

 

 

 D 

C  

  

  

 F 

E  

 

 

  

G  H 

   

 

 

1  A cheap and healthy option if you don’t want to walk 

2  If you are hungry, don’t go there 

3  If you touch this, you will have a problem 

4  You don’t have to pay for half an hour 

5  You will need to drive very carefully here 

COMPUTER ROOM 
NO FOOD OR DRINKS 

ALLOWED 

NO BALL GAMES 

CAR PARK 

FIRST 30 MIN. FREE 

 

BICYCLES TO RENT 

BEST PRICES 

 

 

CAMPSITE 

OPEN ALL YEAR WET PAINT 

DANGER 

ICE ON THE ROAD 

 

FIRE DOOR 

KEEP CLOSED 
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EJERCICIO 2 

A MAN FROM GLASGOW 
Adapted from “A man from Glasgow” by W. Somerset Maugham 

Read the text from “A man from Glasgow”. For questions 1–10, choose the best answer A, 
B or C. Only ONE answer is correct. DON’T FORGET TO TRANSFER ALL YOUR ANSWERS 
TO THE ANSWER SHEET. 

 

This hotel looked dirty and untidy from outside. But I was very tired and did not know my way 
around the town of Algeciras, so I decided to stay there. I also decided to stay in this hotel for 
another reason. The moon was full and it was a clear, bright night. From the hotel I could look out 
at the sea. I could see the huge rock of Gibraltar in the bright moonlight. 

The hotel had a narrow doorway and no name. When I went through the doorway, I had to climb 
up narrow and dark stairs to the first floor. I came to a small cupboard with a desk in front of it. This 
was the hotel office. 

An untidy and tired woman was sitting beside the desk. When I said I wanted a room for the night, 
she took me up some more stairs to a room on the second floor. Inside this room the landlord was 
sitting playing cards with some friends. The landlord did not seem pleased to see me. He was 
enjoying his game of cards and I was simply a problem. He looked at me when the woman told him 
that I wanted a room. Then he said, “Room five”, and turned back to his game of cards. 

The woman, who was obviously the maid, took me to room five. I put my bags on the bed, which 
did not seem too dirty. Then I went to the window and looked out. I could see the huge Rock of 
Gibraltar clearly across the bay because the moon was full. I began to feel quite pleased that I had 
decided to stay the night at that hotel. Then I felt rather hungry and asked the maid if I could have 
something to eat.  

 
1 On his first night in Algeciras, the man was feeling ... 
A exhausted 

B very angry 

C full of energy 

 

2 He decided to stay at the hotel because ... 

A it was very cheap 

B he knew the landlord 

C it had a beautiful sea view 

 

3 What was the name of the hotel? 

A Rock of Gibraltar 

B Rock of Algeciras 

C It didn’t have a name 

 

4 When the man entered the hotel he ………. to get to the office 

A walked  

B used the lift  

C didn’t use the stairs  
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5 The office was on the ………. floor 

A first  

B ground  

C second  

 

6 The woman … 

A was the owner 

B didn’t look very nice 

C was the landlord’s wife 

 

7 When the guest went into the room, the landlord … 

A greeted him cheerfully 

B was very pleased to see him 

C didn’t pay much attention to him 

 

8 After the landlord said “Room five”, he … 

A looked at the woman 

B started playing cards again 

C stopped playing cards and went to sleep 

 

9 When he saw the bed in his bedroom he thought it was … 

A very clean 

B dirtier than he expected 

C less dirty than he expected  

 

10 The ………. helped him to have a clear view of the Rock  

A sunlight 

B moonlight 

C street lights 

 
 
 
 
  
EJERCICIO 3 

IT’S IN THE NEWS 

 
Read the following news. For questions 1–5, choose the best answer A, B or C. Only ONE 
answer is correct. DON’T FORGET TO TRANSFER ALL YOUR ANSWERS TO THE ANSWER 
SHEET. 

Adapted from “BBC English.com” & from “Breaking News English” 



Consejería de Educación, Cultura y Deporte Escuelas Oficiales de Idiomas del Principado de Asturias 

Prueba Específica de Certificación de Nivel Básico de Inglés 
Comprensión de Lectura. SEPTIEMBRE 2015 6 

Blackpool 

Stephen: This may look like Paris, but we’re in Blackpool, in the North of England - about 
an hour’s drive from Manchester. And as you can see, it’s a seaside town and for more 
than a hundred years people have been coming here for their holidays. In fact, Ashlie and I 
came here when we were kids. 

Ashlie: Yes, that’s right. I loved coming to Blackpool – the beach, the sunshine, the fish 
and chips. And the ice cream… 

Stephen: And I love the fun park and all the attractions. Come on Ash, this is going to be 
great! 

 

1 Blackpool is ... 

A an hour from Manchester by car 

B about an hour from Manchester walking 

C an hour and a half from Manchester by plane 

 
2 Blackpool is ... 

A a holiday resort 

B in the mountain 

C in the countryside  
 

Kids run more slowly than 30 years ago 

The American Heart Association says children are less fit today than 30 years ago. 
Specialists looked at 25 million children around the world. Today's kids run a kilometre 
one minute slower than their parents could. How far a child can run is falling every year. 
One reason for this is kids are too fat. They eat too much and don’t do enough exercise. 

Doctors are worried. Fatter children will be unhealthier in the future. One doctor 
said children can have heart problems later in life. He said children needed to "get 
moving". They must try different activities to keep fit. "They can be flexible like a gymnast 
and fast as a runner”. 

 
3 Thirty years ago children were ………. than today 

A faster 

B slower  

C less fit  

 
4 Children nowadays … 

A drink too much 

B don’t eat enough 

C have a lot of food 

 
5 One doctor said that children should … 

A eat more 

B do more exercise 

C do fewer activities 
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HOJA DE RESPUESTAS 
 
EJERCICIO 1: NOTICES 
 
1  A B C D E F G H 

2  A B C D E F G H 

3  A B C D E F G H 

4  A B C D E F G H 

5  A B C D E F G H 

 
 
EJERCICIO 2: A MAN FROM GLASGOW 
 
1  A B C 

2  A B C 

3  A B C 

4  A B C 

5  A B C 

6  A B C 

7  A B C 

8  A B C 

9  A B C 

10  A B C 

 
EJERCICIO 3: IT’S IN THE NEWS 
 
1  A B C 

2  A B C 

3  A B C 

4  A B C 

5  A B C 
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EJERCICIO 1 
NOTICES 

Adapted from different Internet sources 

Which notice (A-H) says this (1-5)? There are THREE EXTRA NOTICES you DO NOT need to 
use. DON’T FORGET TO TRANSFER ALL YOUR ANSWERS TO THE ANSWER SHEET. 

 

A 

 B 

 

 

 D 

C  

  

  

 F 

E  

 

 

  

G  H 

   

 

 

1  A cheap and healthy option if you don’t want to walk 

2  If you are hungry, don’t go there 

3  If you touch this, you will have a problem 

4  You don’t have to pay for half an hour 

5  You will need to drive very carefully here 

COMPUTER ROOM 
NO FOOD OR DRINKS 

ALLOWED 

NO BALL GAMES 

CAR PARK 

FIRST 30 MIN. FREE 

 

BICYCLES TO RENT 

BEST PRICES 

 

 

CAMPSITE 

OPEN ALL YEAR WET PAINT 

DANGER 

ICE ON THE ROAD 

 

FIRE DOOR 

KEEP CLOSED 
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EJERCICIO 2 

A MAN FROM GLASGOW 
Adapted from “A man from Glasgow” by W. Somerset Maugham 

Read the text from “A man from Glasgow”. For questions 1–10, choose the best answer A, 
B or C. Only ONE answer is correct. DON’T FORGET TO TRANSFER ALL YOUR ANSWERS 
TO THE ANSWER SHEET. 

This hotel looked dirty and untidy from outside. But I was very tired (1A) and did not know my way 
around the town of Algeciras, so I decided to stay there. I also decided to stay in this hotel for 
another reason. The moon was full and it was a clear, bright night. From the hotel I could look 
out at the sea (2C). I could see the huge rock of Gibraltar in the bright moonlight. 

The hotel had a narrow doorway and no name (3C). When I went through the doorway, I had to 
climb up narrow and dark stairs (4A) to the first floor. I came to a small cupboard with a 
desk in front of it. This was the hotel office (5A). 

An untidy and tired woman was sitting beside the desk (6B). When I said I wanted a room for 
the night, she took me up some more stairs to a room on the second floor. Inside this room the 
landlord was sitting playing cards with some friends. The landlord did not seem pleased to see 
me. He was enjoying his game of cards and I was simply a problem (7C). He looked at me 
when the woman told him that I wanted a room. Then he said, “Room five”, and turned back to 
his game of cards (8B). 

The woman, who was obviously the maid, took me to room five. I put my bags on the bed, which 
did not seem too dirty (9C). Then I went to the window and looked out. I could see the huge 
Rock of Gibraltar clearly across the bay because the moon was full (10B). I began to feel 
quite pleased that I had decided to stay the night at that hotel. Then I felt rather hungry and asked 
the maid if I could have something to eat.  

1 On his first night in Algeciras, the man was feeling ... 
A exhausted 

B very angry 

C full of energy 

 

2 He decided to stay at the hotel because ... 

A it was very cheap 

B he knew the landlord 

C it had a beautiful sea view 

 

3 What was the name of the hotel? 

A Rock of Gibraltar 

B Rock of Algeciras 

C It didn’t have a name 

 

4 When the man entered the hotel he ………. to get to the office 

A walked  

B used the lift  

C didn’t use the stairs  
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5 The office was on the ………. floor 

A first  

B ground  

C second  

 

6 The woman … 

A was the owner 

B didn’t look very nice 

C was the landlord’s wife 

 

7 When the guest went into the room, the landlord … 

A greeted him cheerfully 

B was very pleased to see him 

C didn’t pay much attention to him 

 

8 After the landlord said “Room five”, he … 

A looked at the woman 

B started playing cards again 

C stopped playing cards and went to sleep 

 

9 When he saw the bed in his bedroom he thought it was … 

A very clean 

B dirtier than he expected 

C less dirty than he expected  

 

10 The ………. helped him to have a clear view of the Rock  

A sunlight 

B moonlight 

C street lights 

 
 
 
 
  
EJERCICIO 3 

IT’S IN THE NEWS 

 
Read the following news. For questions 1–5, choose the best answer A, B or C. Only ONE 
answer is correct. DON’T FORGET TO TRANSFER ALL YOUR ANSWERS TO THE ANSWER 
SHEET. 

Adapted from “BBC English.com” & from “Breaking News English” 
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Blackpool 

Stephen: This may look like Paris, but we’re in Blackpool, in the North of England - about 
an hour’s drive from Manchester (1A). And as you can see, it’s a seaside town and for 
more than a hundred years people have been coming here for their holidays. (2A) In 
fact, Ashlie and I came here when we were kids. 

Ashlie: Yes, that’s right. I loved coming to Blackpool – the beach, the sunshine, the fish 
and chips. And the ice cream… (2A) 

Stephen: And I love the fun park and all the attractions. Come on Ash, this is going to be 
great! 

 

1 Blackpool is ... 

A an hour from Manchester by car 

B about an hour from Manchester walking 

C an hour and a half from Manchester by plane 

 
2 Blackpool is ... 

A a holiday resort 

B in the mountain 

C in the countryside  
 

Kids run more slowly than 30 years ago (3A) 
The American Heart Association says children are less fit today than 30 years ago. 

Specialists looked at 25 million children around the world. Today's kids run a kilometre 
one minute slower than their parents could. How far a child can run is falling every year. 
One reason for this is kids are too fat. They eat too much (4C) and don’t do enough 
exercise. 

Doctors are worried. Fatter children will be unhealthier in the future. One doctor 
said children can have heart problems later in life. He said children needed to "get 
moving" (5B). They must try different activities to keep fit. "They can be flexible like a 
gymnast and fast as a runner”. 

 
3 Thirty years ago children were ………. than today 

A faster 

B slower  

C less fit  

 
4 Children nowadays … 

A drink too much 

B don’t eat enough 

C have a lot of food 

 
5 One doctor said that children should … 

A eat more 

B do more exercise 

C do fewer activities 
 


